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Which of the follow
a

C.

It ollowing is correct with “Leadership”? R
tis God gifted quality b. It is an outcome of situation

Itis an Acquired quality d. All of the above.

Which of the following is a hygiene factor in organisation according to the concept of
Herzberg theory on motivation?

a. Salary b. Recognition

¢ Working condition d. None of the above

Which of the following is correct with Line organisational Structure?

a. Unity of command is not found b. Flow of Information happen slowly

¢. Functional foremanship is found d. All of the above

strongly

Which of the following is not a component of Internal environment of an organisation?

a. Organisational Policy b. Stakeholders

¢. Technology d. Employees

Which of the following is not a step of Hawthorne experiment of Elton Mayo?

a. Forming b. Relay Assembly test room

¢. IMlumination d. Bank wiring

Which of the following factor is having influence on Group cohesiveness?

a. Nature of the group members b. Size

¢. Role of the group members d. All of the above

Which of the following is correct with Personnel Management?

a. Itis the area where concern for b. Itis the area where authority is

development of employees present designed among emplovees
c. Itis the area where planning is done d. It is the area where different resources
for organisational development are allocated in organisation

Contingency theory of Management talks about
a. Scientific management b. Administrative management

¢. Human Relation Approach d. None of the above

Which of the following is not associated with Vroom'’s Expectancy theory of
Motivation?

a. Power b. Valence

c. Affiliation d. Achievement

The style of leadership where complete freedom of operation is given is called___
a. Laissez Fair b. Participative
¢ Aulocratic d. None of the above

Which of the following is a technique of Conflict management?

a. Grievance management b. Leadership formation
<. Group formation d. All of the above
Structural analysis of conflict management talks about

a. Perception state b. Ego states

¢ Communication state d. None of the above
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(Descrigtivej

Time : 2 Hr. 30 Mins.

[ Answer question no.1 & any four (4) from the rest ]

1. Discuss the various techniques and principles of Scientific
Management of F. W. Taylor.

2. a)

b)
3. a)
b)
4. a)
b)
5. &)
b)
6. a)
b)
Zy a)
b)
8. a)
b)

What do you mean by Organisational Conflict? Explain briefly
about different levels of Organisational Conflict.

Discuss the different barriers of communication which are
normally found in organisation among employees.

Define Personnel Policy. Write a short note on “Recent
Challenges to personnel management”.
Write a short note on “Operative Functions of Management”.

What is Group? What are the different types of Group are
found?
Explain the Negotiation process of Conflict management.

Explain briefly the various organisational designs which are
found in Indian context.
Explain Transactional Analysis of Interpersonal relationship.

Define Motivation. What are the different types of Motivation?
Strike out the difference between Leadership and
Management. (Any 3 valid points).

Highlights the findings of Hawthorn experiment of Elton
Mayo.

Discuss the different techniques of Conflict Management.
How Personnel Policy can define organisational success?

Explain the Blake & Mouton’s Leadership Grid.
How Maslow’s Need Hierarchy theory, Herzberg Two-factor
theory and ERG theories of Motivation are related?
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Marks : 50

5+5=10

1+4+5=10

1+4+5=10

1+5+4=10

6+4=10

1+2+3+4=10

7+3=10

5+5=10
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